
CBSE CLASS X BIOLOGY
Life Processes - 2
One mark questions with answers
Q1. Name one inhibitory hormone of plants.
Ans1. abscisic acid.
Q2. What are hermaphrodite organisms?
Ans2. Hermaphrodite organisms are those organisms which can produce both the functional gametes, the sperm and the ova. Example - Earthworm.
Q3. What is homeostasis?
Ans3. Homeostasis is the capacity of body to regulate its physiology with respect to the outside environment. The term homeostasis was given by Walter B. Cannon in 1920.
Q4. What is callus?
Ans4. Callus is the mass of unorganised and undifferentiated cells developed in tissue culture experiments.
Two mark questions with answers
Q1. What is grafting?
Ans1. Grafting : In this the stem cutting of one plant (scion) is tied over the stump of another plant having the root system(stock). Due to the cambial activity, the stock joins with the scion and plant having both the characteristics of stock and scion is produced. Grafting is commonly employed in mango.
Q2. What is layering?
Ans2. Layering : In this method, a branch of the plant is lowered and is covered with moist soil. This covered portion forms roots after some time and can now be separated from the parent and can form a new plant. Layering is common in litchi which do not possess branches near the ground. A ring of bark is removed from the base of an aerial branch. The area is then wrapped in polythene paper to prevent desiccation. The injured area develops roots after 1-3 months. The branch is cut below it and planted. Layering is of following types : (i) Serpentine (ii) Mound (iii) Air layering.
Q3. What is tissue culture?
Ans3. Tissue culture : In tissue culture a small portion of the plant tissue is grown in artificial medium under sterilized conditions. This tissue grows into an unorganised mass of cells known as callus. This callus when treated with required concentrations of hormones and provided with nourishment can give rise to small plantlets which can be transplanted into soil or pots. Plants like Chrysanthemum, Orchids, etc. can be propagated by tissue culture. The technique is also known as micropropagation. In 1964 Guha and Maheshwari developed haploid plants through pollen grain culture.
Q4. Write down the advantages of vegetative propagation?
Ans4. Advantages of vegetative propagation :
1. It is a cheap method.
2. It is a rapid method of propagation.
3. Plants raised through vegetative propagation from a single plant constitute a genetically uniform population or clone.
4. It is particularly useful in propagation of rare plants.
Three mark questions with answers
Q1. Explain the various phases of growth.
Ans1. Unicellular organisms show single phase of growth that  is cell division but multicellular organisms show three phases of growth which are discussed below.
1. Cell division : The cells divide by mitotic cell division to increase their number.
2. Cell elongation : The cell elongates by absorption of water and by deposition of cell wall materials on the stretched walls.
3 Cell differentiation : The cell attains the permanent shape, size and function.
Q2. Write down the main functions of auxin.
Ans2. Went coined the term Auxin. Auxin is a growth promoter extracted by Went from coleoptile tip of Avena.
Functions of auxin :
1. It stimulates cell enlargement or cell elongation.
2. It is responsible for apical dominance.
3. It is responsible for the development of parthenocarpic fruits.
4. It initiates the development of xylem.
5. It stimulates flowering in Litchi and Pineapple.
6. Seasonal activity of cambium is promoted by auxin.
7. 2,4-D is a synthetic auxin which is used as a weedicide.
Q3. Write a short note on the secretions of pancreatic gland.
Ans3. Pancreas consists of an exocrine portion which secretes a variety of digestive enzymes in the pancreatic juice, round or oval patches of cells, called Islets of Langerhans act as endocrine. Each Islet consists of two types of cells: a- cells and b- cells and a number of blood capillaries between them. b cells secrete the hormone insulin that helps to lower the blood glucose level. b- cells secrete another hormone, glucagon, which functions to elevate the blood glucose level. Thus, we conclude that insulin and glucagon both act as antagonistic hormones, that regulate the blood glucose level.
Q4. What are the advantages of sexual reproduction?
Ans4. Advantages of sexual reproduction :
1. Sexual reproduction involves two parents. Thus variations are produced in the progeny.
2. Animals can adapt themselves to the environment because of these variations and succeed in the struggle for existence.
3. Sexual reproduction provides stimulus to ova to complete its suspended meiosis.
4. Sexual reproduction plays a very important role in evolution.
5. It restores the diploid number of chromosomes in a particular species.
Five mark questions with answers
Q1. Briefly describe the feedback control operated by some hormones.
Ans1. Chemical co-ordination in animals is brought about by the hormones. Hormones are the secrection of endocrine glands. Production of hormone depends on the feedback control. For example we know that thyroxin controls the growth and metabolism. Thyroxin in turn is controlled by T.S.H. (Thyroid stimulating hormone) produced by anterior lobe of pitutary which is also controlled by T.S.H. RF (RF means releasing factor) produced by hypothalamus. So if the metabolic rate of the body is low it stimulates the production of T.S.H. RF from hypothalamus (this will be a positive feedback control). On the other hand, if metabolic rate is high the negative stimulus is provided to central nervous system and it will in turn stop production of T.S.H. RF by hypothalamus and so on. This is known as negative feedback.

Q2. Describe the human male reproductive system. Also draw a well labelled diagram in support of it.
Ans2. Male Reproductive System :
1. Scrotum : It is a pouch of deeply pigmented skin having two sacs. Each sac contains one testis. The temperature of scrotum is two degrees below the normal body temperature.
2. Testes : These are male reproductive gonads. These contains lobules and each lobule contains two or three seminiferous tubules. The latter produce sperms by the process of spermatogenesis.
3. Epididymes : They are a long, narrow and coiled tubules. They store sperms.
4. Vasa deferentia : They emerge from the posterior part of epididymes and carry the sperms.
5. Ejaculatory ducts : The ejaculatory ducts are two short tubes formed by the union of the duct from seminal vesicle and vas deferens. It carries the sperms and secretions of seminal vesicles.
6. Urethra : It is the common passage for both urine and sperms.
7. Penis : It is the male copulatory organ and helps in sexual intercourse.
8. Accessory sex glands : There are three glands :
(i) Seminal vesicles (ii) Prostate gland (iii) Cowper gland.
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Q3. What is double fertilization? Explain the process of double fertilization in angiosperms with a well labelled diagram.
Ans3. Double fertilization : Double fertilization is the fusion of two male gametes brought by a pollen tube to two different cells of the same female gametophyte in order to produce two different structures. It is found only in angiosperms and was first discovered by Nawaschin in 1898 in Fritillaria and Lillum.
Pollen grains germinate on the stigma of the flower by absorbing nourishment from it and a pollen tube is developed. This pollen tube carries two male gametes towards the ovule. The tip of the pollen tube penetrates the embryo sac and discharges two male gametes inside the ovule. One male gamete fuses with the egg and results in the formation of zygote which is diploid. Other male gamete fuses with the secondary nucleus (2n) which is the result of fusion of two haploid polar nuclei and results in the formation of endosperm which is triploid in nature. This endosperm provides nourishment to developing seed.

